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56 Manifest Destiny

Use the flowchart and your knowledge of social studies to
answer the following questions.

By 1835, 30,000 American
settlers, known as Anglo-Texans,

lived in Texas.
Texans defeat Santa Anna at the - Texans revolt, Both Tejanos and Anglo-Texans wanted

Battle of San Jacinto. Santa Anna <= creating the more autonomy, especially after the
grants Texas more territory. ~ Lone Star ( 1834 coup led by Antonio Lépez de

+ Republic. Santa Anna.
Texans elect Sam Houston, : ,
who favors annexation by Encouraged by President-elect Polk’s plan to annex the
the United States, their —> Oregon Territory, in December 1845 Congress votes to admit
president. Texas to the United States as a slave state.

1. Which of the following 2. What Texan leader defeated
was a condition placed on Santa Anna at the Battle of
American settlers moving San Jacinto?

?
to Texas? A Sam Houston
A Settlers must worship B Zachary Taylor
as Roman Catholics. C James K. Polk
B Anglo-Texans must D Stephen F Austin
become Mexican
citizens.
C Slavery, as banned by
the Mexican constitution,
must be not practiced.
D All of the above
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